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SECTION - I
Qvus - 1 ‘
CHILD DEVELOPMENT AND PEDAGUGY
LUSAECACRCAN NI

P

There are 30 questions in all in this section.

All questions are compulsory. '
FHEREHAFA S0THE | O
qut v Afar § ()
‘ *

1. Nine year old student's moral reasoning is based

(A) “ the physical consequences of an action | oodness or badness

. (B) an action is judged to be right if it is ifist ental in satisfying one's own needs

(C)  obeying rules should bring some fit or return

(D)  the right action is one that wetil carried but by someone whose behaviour is
likely to impress others. ' ‘

9 94 % ook HI Afdw qHT o7

@) e @ % i o1 9w Freif w@ ¥

(B) T 7 FE T I %ﬁm%%w@mﬁsﬁaﬁmtfﬁm

w) T W aeE el 7§ $ oy fier =fet
(D) W& %@ ' ,T wﬁf%mmwvﬁmwﬁmﬁﬁmwﬁwﬁaﬁm
T \ ¢ l
2. Which of t ng examples is not the result of motivation ?
A) Kr has increased her time of dancing from one to two hours o
(B) Stuart Mill started studyihg philosophy from the age of 12

gan has started to show interest in the ‘process of breathing’

(D) Ram has progressed speedily in Correlating the trends of modern and ancient
history.

ﬁmﬁﬁaﬁqmmﬁuﬁmmuﬁmﬁ%’ ‘

(A)  FEA T F T TF 9 W Tl A A R e R

(B) W wger faw A 12 9 w99 § < HT ST S S fe o

) s3I Wéﬁaﬁm_iﬁﬁ@ﬁﬁmum@.% |

(D) WA I mmmmmmﬁwawm%ﬁmaﬁ% u
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3. Which of the following will work as an effective praise BY the teacher ?
(A} Focuses student's attention on their own task relevant behaviour
(B) Uses the accomplishment of peers as the context for describing students’
present accomplishment
(C)  Provides information to students about their competence or the value of their
accomplishment -
(D) Uses positive behavioural support when students seem unable to control their

behaviour.

fmﬁﬁwww@mtmﬁaw%ﬁﬁmm ?

() fonfeidl & AU F 3% w9 WG ZEeR W HFE
B) faenfEi o adum w1 feaea & 9% WY & o wifuEl FHIA B
() faenfefal &1 st dramed sreran swd fremed % A A T o\
By = foEnedl s} wasr w1 fratem T8 w9 | W SHAeNIeHE FHYA YoM
‘ FAA R | o .
4.  Which of the following is an example of learnidg ?
(A)  Grecting the teacher by folding han
(B) Salivation on seeing the tasty food
(C) Climbing, running and throwi to 5 years
(D) Al of these. _ 7 . ‘
51 § 9 ®F-w 3w sty ; g2
W Y SIS H AAGE H
(B) E@nfag s 3@ w
(© =&, T ¥ ad @ e |
@, AW
5.  Which of the foll st important in the process of thinking ?
(A)  Pictures (B) Signs and symbols
(C) Muscularja it (D) Language.
‘ T aﬁ VIER REESE LRk Ul
‘ B e T D
et~ (D) | )

)

(D)

iour showing intrapersonal intelligence is
etecting another’s underlying intentions and desires

" reading another's mood

discriminating among such similar emotions as sadness and regret
using knowledge of others to influence their thoughts and behaviours.

srdafe® qfs F1 weRfa w3 o = '

@A)
B)
()}
19

i

T F FHA H 3T TE HI 1 T @Al

TE F g Y oiq S

e e Hamt g1 ISE v wsdrEr § 9% &9 .

T ¥ forarl @ SRl ®) ywifad 0@ ¥ ) 3 dtafed e 1 ST T
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7. Which of the following strategies or implications is against the spirit of promoting
gender equity keeping in mind gender differences ?

(&) Tell students that they can be successful in sterectypical subject area
(B) Assume that both genders have similar potential for developing physwal and
motor skills especially during the elementary school years
(C)  Provide support te boys in developing self confidence in their ability to control
the world and solve problems
(D) Teach both genders less aggressive and pro;social ways of intera with each
other.
?ﬂﬁﬁaﬁq—ﬁa{gm/aﬂ%ﬁmmﬁmz@%ﬁﬁm % faudia
) \
7 mwmm&mw:&wmmm%q -
B) yRfve foaree ol 9 ds& @ aefwdl § wRiie [ % Yorrm &1 g
& T B § -
©) o w1 gwensi ¥ wawE #h fava W F ford A A W oSAH
- sefavare fawfaa w0 & fod wedm wem . '
(D) <IsH T aSfHdl SHl & FY AHHEF T sra:foFen R & Tog gt
Tt 1 foaren 513 |
8. A teacher can understand community ual differences within any group by

paying attentior: to

‘eye contact (B) irtelligence

A
- (C). language and expression o (D) homework.
T stearas felt off vy o fafimraiei 1 wog g §
A) TGl % Td F MR B) dIfg F MR W
oy v wE sAheafe (D) & FH & AUX W |
9.  For nurturing creati a er should keep his students
(A) - task focuse , (B) goal focused
) task focu ed goal focused (D)  reward focused.
& FTF F o foenfdal & v =ty
B @ Hfza
(& | 18 Hid (D) TR IE |

10.

(D)
it § A Bi-d i e 9 @ e o ¥ frenfi o

@)
o
©
(D)

| RRRHRRH

following is not a characteristic of socialiy disadvantaged students ?
rience child care practices that do not prepare them effectively for school
oes not receive regular health care

'Are not exposed to a wide variety of expenences '

Are not motivated to do well in school.

I F @ F VT TR A F g q9rEen € 4 TR A€ F@
frafoa warea Tt T 787 e
Wmﬁﬁum@ﬁmmwﬁw#fﬁw

faamm § o1=1 3 & ford efvdfa =1 fovan st 1

. | [ P.T.0.
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11.

12.

13.

14.

Action research is ditferent from basic research because
A it is conducted by teachers, educational managers and administrators
(B) it is conducted by researchers who have no relationship with school
(Y it is hased on standard tools '
(D) it is based upon samples. v
fraers s eur Hifas 97aar 9 s € #=6ifF 9w
M 31T, Sifere ekl Td yereht gra T s @
() viumtsll g foen s § foem foeme 9 8 gy A8 @
(C) % YHIIET ITHLON W AUE B §
(D) ¥8 Y W HIfia g § |
In the action research, action
{A)  hypotheses are formulated on the basis of the causesfof p ems

(B) hypotheses are formulated on the basis of someftation \

(C) hypotheses are formulated so that they can tistiéally verified

(D)  hypotheses are not formulated.

foramm® srauE o

¥ Trarms ITwee @ fmi guemeh § ot ?

(B) fromms Iuskeasl @ Fmin et adgwmfe YRa §

© fmmaﬁsmﬁwfmw : %WWM?WWT
(D) %n"m IqHeaAS] i f [

In Naiional Curriculum Fra , multi-lingualism is advocated to be used as a
resource because -

A it is a way of ens thatsvery child feels safe

(B)  no one is left be ccount of linguistic background

(C} . it will enco

n to believe in themselves
(D) all of these! '

Observing things and recording observations
(B)  Plotting graphs '
(C}) Hands on experience

(D) Learn the subject through abstraction.

ﬁmﬁﬁaﬁﬂ—maﬂfﬂﬁﬁmﬁwﬁm%%ﬁﬁaammwmmﬁ% ?

{A) mﬁmﬁmmam@%ﬁﬁﬁwé/aﬁm
(B) Y@fas s

(C) awafas FIWE WA FE

S sgda % g1 fawa ) dEe

|HERRRIl 501
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15. Which of the following statements do not agree with multigrade teaching ?
(A) One teacher manages more than one class at a time .
(B) Flexible sitting arrangement
(C) Interaction between and within grades ‘
(D)  Students to be similar in terms of age and ability.
=1 § 9 wA-w e wgie faao yonelt % Wiy geafa 9@ @ 7
(A)  TF HAATF UH GHA § TF § AfYF FHaned H1 yorHT F §
(B) FSA i TG e
(©) ﬁfwmwaﬁﬁqawﬁzﬁwﬁamm
p, fornferli @1 o wd ArIa F MR W EHE B | O
16. In the cognitive development heredity establishes Q
(A)  the basic nature of physical structure such as in
(B) the development of physical structure
(C) . the existence of reflexes ‘
(D)  all of these.
- Fgrrewe faera # deww fuifa s R
(a)  wferen S R W % g
(B) RIS G & T &l
(©) wes yfaedl fwaieti &, sifaa

g TEHAFR
17. Whiéh of the foliowing state t correct ? |
(A) e at development is due to nature ther_l for him

no value

s S T ¥ § SR S 1 Ea o et B
T SET T AFICHF TSN & JOF Q 13 off 37eames a=rd T8 HT Fehdl
(D) e UEda & wed H fahm e gurEl % heeey o

18. Which of the following characteristics distinguishes matpratioh from learning ?

(A) 1t is a natural process (B) It is dependent on practice
(C} It r&dependent on motives (D) It is a lifelong process.
firer 3 4 - o gftrsem S s QA srer weE § 2
LW T7 TE wnifes 9w € B, U e W R ®
(C) =7 A WiREd e (D) ¥ e W=t g arel ufskan © |

IR 1pro.
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19.

20.

21.

22,

=

o ! {7
Which of the Tollowing statements is incorrect about development ? -
(A) The development pattern has certain predictable characteristics
(B) The goal of development is the achievement of hereditary potential
(C) The areas of development are free from potential hazards
(D) Early development is more critical than later d‘evelopmént.
=1 9 @ SH-w e T % wory # e R § 2 -
(a)  fowm sfoeml &) g fafvad fodramed =1 wfasamh & s e @
B) Tohm #1 SRYT ST GRS el &1 e e §
© femFffmaidfera R @R
(D) wRftws fasm a8 & fawm § sifere qecy § ) O
Gang belonging leads to improved sociah/atlon in late,c Q
statements is contrary to it ? ‘
(A) Learns to be independent of adults
(B) Learns to carry out responsibilities

(C) Learns to be loyal to group .
fight with gang members.
[ SR grar € | B d @ W wue 3w

(D) Quarrelé over most trivial matter

mmhmwﬁ#@wmﬁm
foem & fagda ® 2

@A)  Fg= | it A g
@) fsyefEl = fawm
(©) &9 9gE & 9fa
P) BE-BET T[N W

In summative ev:

2 ‘
, 30 i & Tl | ISk " o ©

purpose is to

(A) find out h student has performed over time and at a variety of tasks
(B) facilitatgle g and not to assign grades :
(®)) _cﬁ a student who is having a difficulty in keeping with the rest of the

(D) - the progress to the next unit of instruction.

ol 3899 :
Wﬁﬁwmﬁfwmﬁmwﬁmzﬁﬁmwﬁmﬁaﬁw% 1 T S
A T TGP T F AT T YSH FET ~

©) @ﬁmﬁﬁwwmvﬁaﬁmﬁu}%mawﬁﬁm 3T H @I &

(D) Tl 31 & STIRYA W Yo Wil =1 W A |

Raju was afraid of rabbit. At first the rabbit was placed at a distance but gradually on
each successive day, the distance between Raju and the rabbit was reduced. The

rabbit was finally placed in his lap and he started playing with it. This experlment is
an example of

(A) trial and error learning theory (B) classical conditioning
(€) operant conditioning D) all of thfesg. '
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TS @S § ST o |wﬁwﬁmﬁwﬁmgww | 3 a1 f A | 31 9 @y

A T F A F G FHE ARG R | o H U F MG H @O H @ SRS e 9
M W | A€ WA IS |

(A)  ¥IE W@ e fagi

B I Tan g #

() fora 9gd sty fagr=t &1

(D) T F st

The extrovert student differs from mtrovert student in whi e following
characteristics ?

(A}  Strong feelings, likes and dislikes O

(B) Expresses feeling externally instead of suffering intel@

(C}  Absorbs in his own intellectual pursuits

(D) Better in writing than speaking.
et ferenefl s forenedi 4 fovw fodwan & a0 %?
& ISt e, gt ©d e
(B) WA & A WM B 1 Y& 319t
(C) 97 difger wrf § gan wan §

(D) & = 319e faea S |

G

Which of the following statemenits ot¥#rue about intelligence ?

(A) It is the mental capaci _
(B) It helps in adaptati

© Itis judged in t the quality of behaviour

(D) It is perma » changing characterstic.

= & & HEa e ?

(A T TH &we §

(B) 9% W e iy F o TEIF T

() T | 3ifeR! S ¥

M T emfiadeie faeem ¢ |

d personality is one in which

balance is established between Id and Super-ego
balance is established between Id and Ego

(C) balance is established between Ego and Super-ego
(D) strong ego is maintained. : -

(&) 2EH TE 99 HFEH F o= G @l fe S §

(B) 32 TS 3EY ¥ &y Geqer wnfyq fean s @

(C) o78Y Td WH SR % o9 e wfaa e s g
(D SEE STEH I SER S e |

AR 1] . 1er0
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26. Which of the following strategies wﬂl work for mentally retarded children ?

(A)  Explain tasks concretely

(B) Encourage students to set goéls

(C)  Provide opportunities for self-study

(D) Seek outside resources for help.

wwm@ﬁa@amaﬁ&ﬁfrﬁﬁmﬁ@aﬁﬂ ﬁa{am?ﬂﬁm ?

(A) =l w yd ' 9 9 g

B ﬁaﬁﬁﬁawﬁuﬁﬁw%ﬁﬁmm

(C) -3FF & FATH YGH &

(D) e % ford e ¥ WEEE F1 AW F | O
27. Dance, drama & art are used for < :

(Aa) developmént of specific traits
(B) moulding personality
(C) an outlet for blocked and intolerable driyes
1D) = all of these.
T, g W foreushen s v fR s @
(a) fafes il % fawm Rg
(B) =Afhed i BeM & g

(C) < Ud wQivd 9 &1 S A YT B
my, TH QA i '

28. Difficulty in learning to rgad, calculate, normal intelligence and good adaptive
functions are the charact ic

(B) normal / average learners
(D) learning disabled children.
, W Afg T STt SRer AR e J

I ' ®  weeystea sifurret w5
AL EEEINEIRCT (D)  fumm Fgivg wrerEnt =1 )

29. . Diffi | al?mi, the dlfference between fand v sound: for letters m and n is a

(A} = slow learners
(C) mentally re

(B) memory
(D) all of these. .
) AUE A a # wEhE o wamw siferm @t gaEq g @
- FZO H B  wfaw
) WegeiteRtor ' B TEE e
30. According to the Right of Children to Free and Compulsory qucatlon Act, 2009
teachers cannot be deployed for
A decennial population census (B) disaster relief duties
(C) ~duties relating to elections ‘ (D) pulse polio programme.
e @ aﬁmﬁmmaﬂmwmfw 2009 % 3=, ferdt sﬁamwﬁmﬁ@m
wrd & o 787 o S wen ?
v wa o e ER e e d  (8) Wmaﬁrﬁﬁ
(©) I Tt w1 o (D O dife wEwE H |

(DS RRA | (soil .
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e v fet e’ O F | F, @ e %%aﬁréwzﬁﬂ%lfgﬁrﬁ
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| @ = (D)  =TEEe |
45. TaerE A e e T o Em ey 2 | @
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‘ SECTION - II |
LANGUAGE I
ENGLISH
There are 30 questions in all in this Section.

All questions are compulsory.

31. An irnportant assumption of Communicative Language Teachi
learning is learning to '

(A)  speak accurately QO

t language

(B)_ write correctly A
(C) communicate effectively : *
{D) master the grémmar of the target langué

32. The four basic language skills are

(A) listening, speaking, understandin ssing
(B) reading, writing, speaking and ting .
(C) listening, reading, speakin prmmunicating

(D) reading, writing, listeni
.33. Evaluation in a teaching pr

(A) takes place onl of the year

(B) takes place
(c) .
. (D)

a end of a lesson

process and goes on during lessons also

34.

complete a sentence wi_th a matching item
(D)  match unrelated items in two columns.
35. A language proficiency test aims at measuring
(A) how much a learner learnt over a specific peric;d of lime
(B) :learner's knowledge of ‘the whole language’ |
(C) alearner's knowlcdge of the rules of speaking

’(D) a learner’s knowledge of the content of a book.

L. so1] . | P.TO.
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36.

37.

38.

39.

40.

41.

T v
The teaching of English aims at enabling the learners to
(A)  only understand the spoken or written languége
(B)  only express-our thoughts and feelings in speech or writing
(C)  produce good literature in English
(D) both understand and produce spoken or written language.
The Grammar-Translation method .
(A)  emphasizes listening and speaking
(B) ~ pays no attention to reading and writing
(C)  has its major focus on reading and writing v O
(D) emphasizes reading and listening. Q T\

One of the principles of the Direct method is tha

(A)  classroom teaching should be done only 4 targa language

(B) both the first language and the targejflanghage Should be used in the classroom

(C) literature teaching should be the giajo

(D) students in the classroom shou y listen to the teacher’s lectures.

Television is an example of multj be@duse it combines the mediums of

(A)  pictures and sound (B) pictures and images

(). sound and voice (D) sound and music.

Which one of the follo visual aid ?

(A  Blackboard B Radio

(C) Charts (D) =~ Word cards.

Which of t " g has all the words beginning with the -same ( consonant
sound ? .

@) itye ’ ~ (B) kite, city

{C) our v (D) umbrella, university.

42.

44.

e following has the same vowel sound ?
trip, treat, try ‘ (B) good, food, push
she, see; seat (D) ~‘pen, man, head.

Choose the correct phonétic symbol for the sound at the beginning of the word ‘thick

W st/ | ®  /6/

@ /th/ o /a/.

l;i;k out the correct 'phonetic transéribtion of the wofd ‘bridge’ :
A /bridz/ . (B) * / braldz /

© /brig/ | D) /brdz /.

"y so1)
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45.

46.

47,

48.

Prose Passage I ( Q. Nos. 49 to 54 )

49.

51.

52.

- 17 ST-1
To which of the following questions will the sentence “People in the villages of
Rajasthan lead a very simple life” be an appropriate answer ?
(A)  Why do people live in Rajasthan ?
(B) “Where do pebple of Rajasthan live ? ‘
(C)  Why do people of Rajasthan lead a simple life ?
(D) What kind of life do people in the villages of Rajasthan lead ?
Which of the following phrases has a determiner in it ?
(A)  The conclusion (B) . Of two years
(C)  Social Development (D) Watching t
Which of the following has the correct structure of a questi
(A) When she did reach the station ? (B) When she r

ched the station ?

() When did she reach the station ? (D) en sh’e ad rea(:‘hed the station ?
They will invite all the children.

The passive voice form of the above senten illf'be

(A)  All the children will be invited B e children will be invited by all

(C)  All the children will have invite ) # The children would be invited. .

Most children start watching t{

TV. The doctors are of t
the developmeht of a chil
learning and health
watched to a limi

. Spending time with parents and others encourages
d social development. As children get older, TV can be
[} Children preparing to enter school can learn the alphabet

-and numbers §f ational programmes. They can also learn about wildlife on
nature shows. evision can be an excellent educator as well as entertainer for
children. : , ’

Both the ‘eaucator' and ‘entertainer’ are

A) v (B) pronouns

(D) adjectives.
in the clause ‘they enter school’ is in )
Simple Past Tense _ v (B) Simple Present Tense

Present Perfect Tense - (D) Present .Continuous Tense.
In the phrase ‘a good thing’ the determiner used is -
(A) good : B) thing
(@) athing ‘ ' (D) a.

Which of the following has the three degrees of the adjective in their correct form ?
(A)  Cold, more cold, coldest ' ‘ '
(B) Important, importanter, importantest‘

., (C) . Long, longer. longest

(D)  Good, better, betterest.
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Conjunctions in the Passage ( Il ) are
{(A) that, and . (B) that, also
()] about, and (D) about, also.

The verb phrase ‘have come’ in the clause “Many doctors have come to the
conclusion ... " is in ‘

(A) Simple Present Tense ‘ (B) Simple Past Tense
(C) - Present Perfect Tense (D) Past Perfect Te

Prose Passage II ( Q. Nos. 55 to 60)

55.

56.

57.

58.

59.

60.

People in the villages of Rajasthan lead a very simple life.
changed over the years. They live in circular huts. The
with cowdung. Every hut has a small place for wership.

ay of living has not
these huts are covered
life ofithese people is full
of difficulties. It is very hot in summers and c wintérs. Water.is a major problem.
Sometimes they have to walk a long digtance to get drinking water. For their
agriculture they depend on rains. But t
face difficulties and they never lose h
to wear dresses full of bright colougs
tradition of music and dance. T

ple are very brave. They have learnt to

so like to enjoy their life. Women like
ving in villages in Rajasthan have a rich
Rajasthan are very proud of their culture.

Which of the following word ymonym for ‘brave’ ?
(A)  hardworking ; (B)  valiant

(C) prosperous 6 (D) enthusiastic.
The antonym of ‘b i S

(A)  colourfu (B) trahsparent
(C) dull (D) dark.

-foli_ ng words is correctly spelt ?
(B}  defination
(D) definetion.

can give us the noun

y

tive ‘simple
simplify
simplistic ‘ (D) simplicity.

(B) simply

‘The way of living’ can be replaced with the word -
(A) livelihood (B) liveliness

(C) lifelike (D) llifestyle.

Whf¢h of the following is an adjective formed from the noun ‘music’ ?
(A) musician (B) musical

(C) musically " (D)  musicality.
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SECTION=II
LANGUAGE n
ENGLISH

There are 30 questions in all in this Section
Al questlons are compulsory.

61 Peer assessment takes place when .
a studént’s work is evaluated by one or more students of his /
(B) a student’s work is evaluated by all the teachers

(C) a teacher’s work is evaluated by all the students O

(P) ateacher's work is evaluated by a student. Q
62. Which of the following is not a purpose of evaluation in cati

(A)  Assessment of attainment ' L 4

(B). Measurement of the valge of teachlng metho

& Collection of information about the parents’ mers
- (D) To diagnose difficulties of learners
63. A good language proficiency test ‘
(A)  is entirely made up of only one type of ons
(B) focusses on Essay Type questié 1€
(C)  is completely based on Obje txv @ questions
B, is a combination of pe. Short Answer Type and Essay ’I‘ype
- questions. :
64. A Remedial Teaching syldbus be based on

(A)  the teacher’s impress language difficulties
. Safning a language

65. i i pgys greater attention to students who
B) are likely to go abroad
; | 4D) are irregular in attendmg classes.
66. i of the followmg is not an important principle of language teachlng ?
e students should learn a language by doing it.
e students should proceed from the concrete to abstract.
(C)  The teacher should try to motivate the learners.
- M) The teacher should always tell jokes in the classroom.
67. The correct order for teaching language skills is
) spedking hstening writing, reading
(B) speaking, writing, listening, reading
XC)  listening, speaking, reading, writing
(D) listening, reading, speaking, writing.

Wy - [so1 , [ P.T.O.
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One of the tasks of the teacher in Communicative Langnage Teaching is to
(A} collect information aboul the soctal backgrovnd of the iewarao

(B)  dctermine the language needs of the learners

{C}  provide suitable classrooms (o the learners

(D) send progress reports to the learncrs‘—parents.

The main aim of Commuﬁicativc Language Teaching is to

(A) provide communicative compeience (o learners

(3) focus on the structure of the tardet langauge

{C) emphasize the use of English as a library language

(D) encourage learners to speak like native speakers of £nglis
A healthy approach to a language learner's errors requires ihg @ eacher should

{(A) condemn the errors

(B} look upon the errors as a feedback to the {ea
(C)  punish the learners for their errors

D}  completely ignore the errors.

The total number of consonants in English i#,

(A) 12

20 .

The first sound in the word ‘eat’ is’

A /ea/ '

(®) /17

The last sound in the word anscribed as

W /17 ) /sh,
€ /s/ (D) /ch /.

Which of the follo correc! transcrintion of the word ‘wide™ ¥
(A) / wald / (R / wid /
(Cy / wide / : W) /ovald /.

Pick out the ¢ req anscription of the word ‘hooks'
w7/

(£3) / books /

i

[D) / bookz /.

Students actually progressed in ...

(B) It was possible for students to progress in .

1C) Students had the penmnission to ;irogress‘ in...
(D) It was not necessary for students to progress in ...
The wedding has been put off until December.

The phrasal verb ‘put off here means

#)  Postponed ‘ (B) Can. elled
{C} Fixed up (D} Brought forward.

v
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78. An elegy is a poem written

(A) - to celebrate an occasion

(B)  in the praise of God ’ ' ‘-u

(C)  to give expression to our love for someone |

P) * in the memory of someone who has died.
79 A sonnet contains '

(A) 16 lines ' /B) 14 lines
(O] 12 lines - (D) 10 lines.
80. All the dialogues in a drama contain the thoughts and feelings of
{A) the characters ‘ (B)  the author
(C) the audience (D) the direc

Poem ( Q. Nos. 81 to 85) ‘
I have seen dawn and sunset on moors and windyAills

L 2
Coming in solemn beauity like slow old tunes of 8pai
I'have seen the lady April bringing the daffodils,
Bringing the springing grass and the softgta rain.

I have heard the song of the bloss old chant of the sea,
arched white sails of ships

But the loveliest 'things' of be er has showed to me

Are her voice, and her haif,, a #S, and the dear red curve of her lips.
81. “Like slow old tunes o in” isfn example of

(A)  metaphor o (B) personification

(2] simile
82 mes with

(D) assonance.

M) “lips” ( line 8)
5) (D) “daffodils” ( line 3 ).
" in *Old chant of the sea” tells us that

ant was popular in the past

8

the sea is no longer young
the ch\ant has been there for a long time.
(D)  the sea has been singing an old song. : ‘
-84. Which of the fbllowing lines shows that the speaker has travelled a lot on the seas ?

(A Line2 (“Comingin...") (B) Line 4 ( “Bringing ... "}
(C) wLine 6 (“And seen ... ") (D) Line 51 have heard ... " ).
85. . The most beautiful thing God has shown to the speaker in the poem is
(A) Lady April : (B) His beloved
\ (C)  Soft warm rain » (D)  Daffodils.

L — - [so1] [ P.T.0.
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Prose ( Q. Nos. 86 to 90)

There have been immense advances in technology in most aspects of people’s lives,
especially in the field of education. Nowadays, an increasing number of students rely
on computers for their knowledge. Moreover, computers have been helping some
students to progress in their studies quicker than they did in a traditional classrpom.
In the same classroom, students have different intellectual capacities. Therefore, some
would be tied to a slow advance in their studies because of others’ inability to move at
a faster pace. So, students could progress in their acquisition of knowledge at their
own pace using computers instead of learning from teachers. As ar
believe the role of teachers will now become le€ss and less importan future.

However, the presence of a teacher is essential for student se¢ the human
contact influences them in a positive way. Students realizegtha y are not dealing
with a machine but with a human being who deserves attent  ahd respect. They also -
learn the importance of studying in a group, whic Ips them improve their social
skills. Moreover, teachers are required in t learning process, because they
acknowledge students’ weaknesses and hel to solve their problems on an
individual basis.

86.  The word ‘Therefore’ at the begmmng 0 sentence of the first paragraph

indicates '
(A) Compatison _ Similarity
(C)  Strong possibility B Logical result.

* 87. Pick out the correct verb fo d in the sentence “The role of teachers .........
more important now” :

(A) have become has become
(&) had become : is become.
88. Which of the follo C ea pOSSlble tltle for the above passage ?
A)
-B)
O
(D) al Classrooms.
89. C allow students to

ters Replace Teachers ?

control the teaching process (B) solve their teachers’ problems
()  learn at their own pace - (D) improve their social skills. |
90. One of the limitations of a computer is that / ‘

(A) it knows much less than a teacher ‘

(Bl it ig less efficient than a teacher

{O» it cannot provide human contact | 5

() it cannot provide the latest knowledge. ' ’ e

e ~ [s01]



61.

62.

63.

64.

65.

66.

47 : ST-1
@ ug - 11 '
T - 11
LS L
379 e ween: wf= |
| AT FHIEAT: |
T vy afew weE TeA 614: 67 TN YT ST St —
T = vl et =, |
e gamepfa =nda aer=n |
Trcrsgan g =,
&1 e faerd ?
(a) wEw
(C) ERTFT

" et sors & wed: ?
W fof
) T

fregemrT’ T GHI: 7 1
(&)  FHHURE: Q

| T Ef;
(D) offe whe: |
\ (B) a"em
© wefis U O) |
g’ i e faei e fh weq ? -
@) fhyFente \ : B  TEm
© ) ==

L 501 ] | | P.T.O.



ST-1 " 48 o Re
67. 'TACRM’ 3F 6. wiy-fassg: ?

) AR oAy . (B) <. + AfY

(© <agY + ifa o (D) T + S + 3 |
68. HeAargH shidfayd ? , |

() Fafaug C o (B)  wHfEEy

O fifaum | ) =

69. WEFAWITNED Fave woEvE fae | ~ @
W ' B T O

© W | | D) G | \
70. ‘SereRonfi weqE e weAq) 3t = fafy: 2 K ¢ A

@) gty ' fafe:

(O et Q Afafr: |
71. wrEEag: fafa: & 2 Q

(A) IREfaiY: , @ B) wré#rﬁfu:

- (© gt 6 (D) erHAfafy: |

72, foel wfaet wd W@ 2 : |

W Q@ B W

(D) gwasqmuﬁ |

frfafaa: v 9o 739 79 TR weA: WigEn: —
2 ? UAE: AHA: 9 HERI: URwhR: 3fd GEhfd: | Spfa: W fde wafa |
q&pfa: AT | IRAE §%d: stestareR ik — ‘wd v giea:,
< ', Sreed FeAYAY ', A qEEH !, HIgeq WERY WEeAY W ST |
Hepfd: vHTHE, Suian-SraeagEal Wik |k, AN, HisEe: J ST THE:
fagra: afx | g, @, SfeamEn: 9 o gee add | fgafeas gers: e TRdesEnd
3T | | | | '
73. HAYTY FIgU: AR : FI0MF: ?
@ W | | (B) s
© . fgem (D) - e ¢
1L — [ 501 | |




o | S
74. '=g9a’ o @iy fawme: el —

W B gt

(C) =gw+ g ' (D) =g - Ea
75. 'dreaq HEER: FF yeuH: ? !

(A)  TERY . @) '.g—chﬁg

© W - D) W

76. 'Hew@q T & WA: ? | |

(@) Y : | B T O
o = | D) ()
77. ‘wpfa: g W w7 A K ¢
W m %
© 3 %ﬁ:l

78. 'FHmAH' T h: WHM: ?

VI "B wHuAE
_ (D) &35 |
79. Ty e —
(B) EEpf: 7 Fer stedq
(D) Hopfd: g9: ffem FEFXA |
80..
(B) Wzg
. (D)  STRIerETIR |
81. T e feerfd AP Figere TEETR W w2
Rk - B
© TEfare e (D) & 5
. 82, mwuﬁwmwwaﬁaﬁﬁ7 S
@ FravE | | B e
© (D)  STHETOAT: |

LT S M&ni | e



ST-1
83.

84.

85.

86.

) gl

87.

88.

89.

90.

50

AT R T S =, —
@ T (B) draEgEH

(C)  weTarE T —

frerareTesr qdiemdern o1 wien fovaain Feg 2 )
@) R | (B)  wrE

© T | D) fefewiE | .
s amre TEhd A Fod —

a%,ﬁaﬁ?'qqﬁammr%% |
(A)  9: @M 31 9 faemerd T=sfa
(©) ¥: 3% « = fomner Tey
‘%’Wsmﬁm?

€ =US:
e HMETad —

Y s uq Tweia 1 , |
&) ™ TugwE v T=ia Q B & Pregwm v Tty

(C) @ fuggepor v (D) & fuges ¥+ g=sfy |
frefafas: A i e — | |

A B) &Y

(C) D) TE:

- TSI SRR AR Fed —

@) e T (B) N TEE TEw
© e e e D) o T T
‘g ST AT T fom 2 ’ |

W E B ®verS:

©) g D i3S |

NSRRI so1 ] » .



Y . 51

m -
- i
_ 3y | A
-uzd/)/,}b.«'}ZZ:U)”er"-uf’/ci_.J.:/U’r‘ 30 u:u:?u,’ \

e KL

o/ ® b (3
Y6+ (D) | 7 (©

JIE o) ' Sk (©

?q-kf.@)uve) Fuliiu#

Joy 0 (B) & 25 Uy (A)
oo ‘

@ UAS it ue b

Sy ¥ (B @ JEryn= ()

JEngbt ©

1930 (A)

Segies
| 42 IR N L BT

8Q) (D) 1920 (C)

% -ufigﬂcf.'fwb*w"ambbuui'ﬁfu@i
S @) R I AT I Y DTN
mA D) &4 (©
bl U ASL Ly g

ed Tl @)

ngg,(&“@cu?/?/éuf (B)
é_.@dm;&l/uu}mbuufufuiLLPZZT/Q:Z' (C)

| Lol el ol (D)

| PRVGRI-L I
el @) ESHS T

- gleuwed o) ST 2§ ()

ST-1

61

.63

.64

.65

.66

.67

IIIIIIIIIIII | o [ P.T.O.



ST-1

Sl an
WY

SPSG
srs”

S o’
PRNTSN

‘ » Jl}

...abfqﬁf

. ..557

N

52
L O AU
(B) Ser;u;.'sf, (A)
D) 51/¢,5L¢J&7”/_},/m4%_: ()
e LA LY
®) EXNE,
(D)
(B)
(D)
(B)
(D) J o (©)
?c‘;gﬂ’/gjnd’{f K“}uf\j‘...«tﬂ
SB[
Vb (C)
, L o
(B) JUdhE b’ (A
O) i (©
cor S sl o uE
(B) oz (A)
(D) el (o)

| fe Qb Ym0
B) | S

O | Koo

u: MJ’/&.«J/ S ol

1

B | 41 ()
o AFI ()

.68

.69

70

71

72

73

74

. N ‘ ":,.-. N
’ 4\‘ R




53 ST-1

o b LU P 7 0 SLL s e’ T
M’f{! (B3) | S0 A)
A1 o) o FEE )
m:_,w}ﬁjmf;@u 78
3B Jhas (A)
of o

79
(e (B)
(7 (D)

80

¢ (B) |
ol (D) , Q)
8= Ur&l & oy St it
o LSS el

booeT e o

I o el o Loty
&O%/‘Op:d//tjgi-ﬁa@/r
e Ul et i .5 8
o GFag AUz o Sk .
| b UI# g/ $f & -
L et S5 s fln s
~/ (B) J¥ (A
=’ (D) £ Q)
| ?%LM&@W"‘UL/" U EURTT U 82
26 (B) - | N
S (D) | o v ©

’

R ' [ P.T.O.



ST-1 o 54 : Y

Co eI WUz Sl el v LG 83

et ) | WOt}
< o | A
‘e Lo e LS suia s
“ ® | v’ (A
= (D) '

db/ (D)
Z.;,,mi(go ¢
‘,ﬁc./t’cc. d/g)[u(c_ J/ﬁl-c_quuk 'fla{u’J_;’(
/Jl.fﬁfw /[)[“ Ud/”UUt‘ALd_U/J}u_ > h
UL - ML)/L;)LI/;ALUECKLJI d)dbrwv} f :’d:du/u’;/.fu’(’/é:ulrl
“ut‘w"dtgdg/ww{)uuuﬁ '
' -gm‘ﬂwc,mffu: gu?{u”ﬂ 86

A
eéf (€)
, LVU/M_/)”C,U”J;C/: .87
B) ‘ ok’ @A)
: D) 24 (C)

°LU:’U}"’J" U».J/J/(//’(u” .88

®) 74 (A)

(D) I
Vc.u/g)‘bu““fdwfu/u ’ 89
(B) » (A)
(D) 47 ()
Vc.flzu/u’ LU/)’{{'/’A' .90
Al BV
- S8 o) e



Y , 55 | ST-1

ECLE | i
UTHT - 11
faeit
f& 30 et = sufga |
WWWWWWI
61. Wméﬁwmmwﬂmwmagﬁmm fereal ?
@ wEHEg | (B <riiet 9N =y
(Ci EIIRCR| (D) HeuA | O :
62. T forgo afed oSl T8 WA FS A e, fafas / fafast am ( R
@ TgE (B)

(C) e '- (D)
63. fu Meiter @i shot dieiar a1 R w9 H o A e A @ = o
() e (
(C) EnHwe :
feer ¢ forva 3 fetfiorer Sigea frgusa e S o |

64.
BIgh!
| T |
65. |
66. ThoH H S Hales b fhare 9gral a1 stfed faa @ e =g IR |
EaCGISEASIRETIC
- D)  BfsE )
67. gie1 fafa aon sy gameR T e wih stoffar gan
(A)  FEA | (B)  gealfurhl
€ swE - (D) RIS |
68. TS e A fosf Ao og o fef T &
(A 1947 | | (B) 1843
(C) 1857 : (D). 1853.

AR 501 o [PTO.



ST-1 | | | | 56
69. faut g # AR # feamera go g
A) ﬁizﬁmmaﬁsﬁm'
@) faft forgor st v -
(© fisft fires e S v | |
(D) et v, wfeer € e § wfa T S oy o
70. @€ fa o s wmn € fes ooy &g &7 S I9ET w5

@A) IR S fEwae ' B) fewmt @
© = | D) =@ | O -
71. ufFwE A s | .
@& foF ger w0 foeh vl wRa g e 1 & A \

(B) & A FFU g e | |
© feF g w0 T foa geers gl gl
(D) feg wEa T feg wea €21 AR
72. ‘4 feq @ g FumE R 1 S AER
W T ferw g AR 3| 1 ¢ - ®, Y e @ g g o ?
() ‘i%ﬂéﬁﬂgwﬁw@ @ (D) & | 4 q fer @ wogpst e afd |
73. 9 @I S AT o '

L ® =
(G D) g 1

74. @ @ Wi e

A - gfed o B) s

‘ , (D) & |
75. feerstt shfeg! grerd S@m o ?

B) FH
. (D) Tfew |

76. g g S sTel wiufeal 1 T e 7 g e, 3R |

(@) T | B e

© |w : () Wl |
77. ‘WEE R SES T S HE A HA ! o e B e ! o

(@A) Fk fra | | B) TH RN

© T D W

. | 501



78.

79.

80.

57 | ST-1
S 3 A S W A @ e o | |
W cmeR | C B Tw
© W AEE | (D) WA
‘arfiet i T FUS enfEY] SEES W S
W fmemfem ' (B)  STTETE S T 0]
(C) it feroy ’ (D) SwHeEy @
TR T R G A R L ! X
@A) ufa-aifa so% | (B) sfg-sfa = O
(C) -1 S % | () fewug '

NG

T wfam g ¥ iz e feaa garem ( gaa 814 85

Tai SR T, o T i e =,
a3 @R H @% oft, T 7 gEehenet |, |

81.

82.

83.

Fifael 3w T B4 Wew o P, .
oA qi qfesi =, awy ELE

e wsft gor e, off,

F H0 YRS ?

@) B o S firen

i e gl (D)  S9ET |

e TS FE ST TEE) ?
W o ® wmgmd
(© | st A | o D) WS
e & w6 s o o e W A TER 2
() Tits S e o B wie St e
€ TTH - ) fag S e )

;€ s - e



ST-1 58 Rd
84. TFE Fel g Y oo ?

@ Afe-sife & =i (B HIE W G I i

C STUgERTH , (D) foF" @i 7eg 98U 4i |
85. ‘St gfEw gfew o T’ St W Swrieg awe e

(A) TRY T et FES B) T fuy of zE<
(€ 3fen @i Afs 3Ed (D) @
gfedl Fl et U =fs feaa oo ( gaa 86 @i 90) WWF{&I’[

foms s 1 3¢ =% IWee 3ed
| 9rAe Sel vl fodl, wRe @iy

fegm | H49 @ 9 = AR A feA Moy
el foran € forarg woft 4 gfest *Y, fag
¢ it #fe %o T wfter wefea 1 31e,

86.
HHIT
wRahl |

87. |
AR 6T
YT WE

88.

ESCEil
A |
89, 'SHIETE’ @ S A A |
@ TEE , @ fefors,
(C) FEHAX o (D) edfeEl |
90. I Ioft @S fordt | ¥ 2 |
W R ' B) T T
© (D) FESEE |

L. | N



59 | ST-1
o3 : I
gH : 11
fer ¥s fée 9% 30 yms o5 |

' AY YA At T5 |
61. Wsiaz & 37 fen wet g T faBfa - - :
(A) I e B & Yyust € uug s wEl O

(B) fefenrast 2 fiffmr wre Fres wel C)
(C) fefemnrget & martmg wres wet o

- (D) 3= Gen, fefonradt & fifunr we w3 Erel et

62. I3 fehimit fdg yoias o faoz €ew odt 3 2
(A) fefonrget & AurEE 9 FEs
(B) useH &g Ardtt faftmi fafomret

63. Jo fafit &5 yeazs 8en aat 9 2
| A) fenerles gu féu 5
(B) fefenrast @ 33
(C) fefenrast TS
(D) fefenmaet @ faRd ufeerfon wes & Fus |
64.. 73 g F mr fiie w8 forash fedt morfest amet 3 2
(A) ' (B)  nigwre fedt
(D)  @won fedt |

65. fev iz o farodt feimar 5t 3 2

H forastars ger 3 (B) wywaE Ayfog dger 3
(C) Wﬁﬁ"‘:‘s’éqfaﬁwﬁ (D) wewe formua yfafenr T |
66. wfﬁuzm‘hrzfa?gimn—&gfaw%?'
(A)  us-yAsSE (B) =BxFTS
©) Tadtas 7 yoams fed (D) - 2u-feargsy &t <93 |
67. I frfur ®et Aget 3 -
) menfoRs - (B) Fgm-nfwis
(C) BuH W3 Ags-mfmits (D) AR-wfods

|HHMORIAI | - - [P.T.O.



ST-1

03,

09.

70.

71.

76.

60
femmasﬁﬁwfaﬁ%ﬁﬁwgﬁmu?@éwﬁéﬁ ?
(A)  wIHE I foais ‘ - (B) ydIs 3 A
(C) wifsrfes 3 forfaz (D) »i\E 3 UFs |1,
mAd i &g 3 five o8t faost fedt nuzret &t Atet 3 7
(A)  IBHIH wfommus (B)  mdfax wfumrus
(C) asAIH m3 Adfaa iz (D)  aEast T3eds nfumus | .
g f&g ares fAfunr € &t 881 95 ¢

A} de® afofsa aeardt o

(B) &e% a8 A3 3 AE qITRET <:O
\
o ,

(C) de® yr3gi g3 TR ‘
(D) wAfulsa aeadt, g @Ag w3 usat ¥ TR |

ufa®t a3 € ¥9 ¢ JaEt 3 @ mifunius wEt, faost

(A faniain saate - (B

€} Ba99 sl ‘

AT g @ nifumrus A 9T § 3R | ?

) femaaE § mise e wfai 3 T @ fem @ w92
(C) W&IAs @ AUS T (D) Wmﬁmﬂga?ﬁx

 Hfua-sms 2 fifer o G9R

(A) fefenrgst § Aes

(B) fefenraat fEg 3% T -
(C) fefonrasl § ndp, Mite feagt o ve@er
D) K 1 '

33T gE e |
EERRIETE frfemr Bt faga gaei w3s &zt Afer J 2 _
(A) - o8 faar e 3 (B)  muet T gate o fams fozr wer 3
(C) g6 &gt faar wer 3 (D)  TITIAS YE KEﬂfa’UT " g
o fedinii 5 fona-3mms & fifunn fedh faoa oot 3 2 |
(A)  <geww fedt . (B)  riugywas fedt
(C) muwe fedt (D)  mregAus feat
EiAs 7HTU"'EI‘@:L§ miﬁw faami famr' Hat am%ﬁ' T 7 |
(A)  uA . ' , (B) 99
©) fis | o o) B

T - S



61 ST-1
77. T fetor f6F fausr yifeg T 37 |
() deafs g foar 3 T B s uger d
(C) deayfis ug adt foar 3 (D) o denfls yg foar T |
78. foq wy o5 uE” - yIed T wEE F - |
(A)  wfonr @ gu feg Quer (B) fai 8§ 2u @ »iy d¢ a9 3t
(C) mfont g fEa fagr Suz (D) faA @ T& T |
79. ﬁﬁmaﬁwﬁﬁﬁw’—mwg‘a@mﬁz-
(A) IRt T ATQ T A (B) O
!C)v It &7 eBer arfen sfae | (D)  dnt
80. faA < adt 18 3 fasgs €A 39" feman fdyg Bar & Kfav?fewnﬁ%émaﬁt
aer 3 ?
- (A)  FE
(C)  gae !

E:f)}GT—f\WEjﬁ):EFHT?I
3 HI gou T HIT T |

3T 978 T 3T HIG |
3ndt fqur 3 3

g Hdt G2 3 I A

81. € -HoH § yare a9er 3 7
(B) et afe
| | (D) - fa afe |
82. BB my3T AR Tt g J 72 N o
(A)  yH3H & AR fAefmr 3 (B) yH3H 3§ Fle v 9t usET9 9
(C) yr3wT B3F wEt 393 fder 7 ‘(D)_ zpr"?}'rrwsﬁ-ﬁBT3|
83, Gudes dfe T Jo fofun &5 fom o €y ot 3 2 |
(A)  ZE ' (B) 3=
(C) w37 (D)  duy i

||“|“"|||“"| \ - | [P.T.O.



ST-1 62 :
84. Quds arfe ¥y fauam nEaw 3 7

(A) T | (B &ur
(C) YA _ - (D) M |
85. Budwz arfe &9 fan ga<t At v fifunr fest at 3 ¢
(A)  wifefomnfa B e
(C) Juet A . , (D) FAIwEE |
I foit 33 3 ug &, AT® 399 86 F 90 Iz T GO39 fsi - | @
| fugd € vofam 3 fens-farmat 7 Hae Jar odt 3 @ @ wig iR WIS Arond e s ot @

39 J' nrIH-df3nret a9 99 I5 | UAE © am-a'w et gfemt fég

Fu-Jy feu=t &g sgur v femr g=fenr fomr 3 1 fedw 3
forrs @ ¥t ¥ v § 99 Hae o fAaw § 99 95 | RHW &9t @ Ba 3w wirsfaa-mofia Hae
fég fug a8 g5 | Ot @ Y3t Tam 7 &g »ret w3z 3 G3uex st g <u foor
T, fegt Ba vt wifs i3 o fem 3 ' | ‘

86. I5 fefunr &9 fagg mae fuess o

A)  nEs
(C) wafemi | 6

87.
(B) fotge
(D) fmag
88. '
B) fams
(D) UAg |
89.
A) fons-fars (B) »FBHUFBW
© ¥sEEs D)
90. H@ﬁéﬁ%mm—m%ﬁmmmﬁmﬁ? |
(A)  FAH | B eIsHwETS.
(ci sfdyas (D) gsfawm#wm.'



oval T - ~ ik

e (@) Sto ggplo ().

sIsRpS () Rlen s (V)

¢ 182§ 1c|ehy o123 TbSIRISh [BR [RINY) lap mﬁm THIICh2TRTHRUIHIDNR
e (Q) | hls«aueisrytre )
nERwy (@) R Kh (v)

¢ @ lofslxe'mlle-naB lomm Nellof2[lo
5 @ s () R (O)

1ahb (@) N LYs (V)
| /N, 1Rpw P bg rchioun

“1$3h NeRR Q) - PH Noxkh - (D)

o Io1S 2h9 mlch () Tono gars 2h9 thich (V)
P12 RoldR fno2iz fozlislab 1hich

“lolp 2R PR (D)

D2b)2IRD) Blok) (V)

i rIbRs T3 \:% bas %2 pEROR PlkeB § PS|S? Pk [hilkR2 L

‘1b63h st Qﬁp R1Q 1Pb n () 1R|¢h SKJIb (D)
PP 1212h TerR  (4) . PP 1R 2h ];esjll;glra 23 (V)

‘WRle 12BP2b [loslt 2SR |RIMIR |

‘@ PIRAJ2S PRI lolbls [olowlt §33
‘@ [ostt 0€ PE TSl 1R
Lplebfé
II: Thito

III : Sha

1-1S ‘ ‘ €9

¢ ¢ RISIE 98 is&]lz»)‘k PPR PPlollo 3§ [RIkIbR{l |
13B) 1Rk (Q) . 9c Issi - (D)
chircspia (@) Goipbs? (V)

L9

‘99

‘a9

9

€9

¢9

‘19



ST-1

68.

69.

70.

71.

72.

73.

74.

75.

76.

64

ol etniell UlSH\j,%dgci on@aatel 548 ?
(A [(Bda (B)
(C)  [awadq | (D)

sildstiriell st siicuoll (Ast2t 211 uent aua &,
(A)  =maqer . (B)

(C)  aiua : (D)

(Genell taleie] Gearer sdld qiadl ela di da Sai usneo? diuet s8lej ?

(A)  ysdiAel | (B)
(C)  elidaruet ‘ A (D)
oilletiiell sl (Aldre ¢ Gunt deu ?

(A)  Queil Qusdl uBua uia aisadi 21 (B)

A)  [(so1a
(€)  wrellcz '

adfvisui glzet AR yella oum

S

(C)  (aell Auis (a2l wel %

ofldetiiiall 58 uwla Ri2a1ssegl agy 8. : o
(D)

2aiL21121

euoicl.

5@ol

" dvutel.

Hutdidel

sueel

SHIdIHal

5ol

Ay  [a0ia : (B) yeL uRefl aidl
(C} Rt uzell aiat | (D) RuzRizdrz.
clldetptiell ¢ 2el [élaielcﬂ ussla etell.

(A) (B) eeu@m

(C) (D)  2AHal.

ol) )| 52 uBoin ouMsell et (SR U2 AR 52 ol

(&)  Neew (B)  ataer
€ fud | D)  snye2.
“mis old oisA ALl 6dl.”’ i seg, ue A B 2

(A) s ~ (B)

© oA D) ddl.

&

L 4

[ictistl clia 21

Auiscll y2dsl aiuel.

(@sie1 e 58 2usitell Guatldl sl ?-



77.

78.

79.

 80.

81.

82.

83.

2ud €181 sRuieiail (i eud eiecl

iy 29
// 2 ///////

65
c{lf_lctmiu"l 5¢ vaucu yel asa & 2
(A) Qo «dl dlg | (B)
(©) s asiadil eZa (D)

21Rdl 6518dof Clict aq - i sAL 3(2uAtd1 awzell ?

(A) vt wRdl : (B)

(C) wtivt Gasdl ‘ D

olld dett ol qat - sddddil (@Rt séaa s6 & ?
(A)  olldaell a2 g2 | (B)
(C) s a2k ddll «f a8 (D)

ST-1

wda

a2l azal.’

Aivt 555dl |

iVt vilddl.

- 01‘1(—1qml MQQO
W

“ig Siglll g v
¥ asAUi 6S15dq 201E] s2st 52 cla dai aisud Sai usd wsa §elej ?

A Ruea (B)

(C) Ggoue

ol A yuioid e Uset sHis 81 2l

26sl Edl &R a2 oid wial wdl 2uldl,

(B)
(D)
autcell wiA l'ml Aat stet 21d & 2
(A)  ounst - | (B)
(©) qqtcﬂ ' | (D)
Wi dal vdetz Fdi tia 202l wcl 8 ?
A &u (B)
(©) | sevt o ot (D)

-

Hotiti oro1Sla
siii oficlldl.

Hictl |

- al3dl.

G

g:ut.

- o [P.T.O.



o [T

o (@ ey (O)

Ny (@ | e (V)

i @ JCRNY Th3old TS (PRl

waweR (@ | ' s ()

s (&) ‘

‘@ 3013 DIOIP 3013 [ Tk @ 1c1H JAWIIR PRIS JINle 12,
‘@ fone  (Q) an

aBDb

pes

1a2biPIb D)

¢ @ 3h ‘”res 1akRyJIRg) R @ foue nabn @b PIN) 1P2§ ki),

3013 PSRRJR 3013 RS RNLRY

19
Shjcb  (9) 2 bbie (V)

"RbIR ThIb2s 1BIh bkl @ RIR BN Pkile) (D)

BR 1BIh bhiel kR BN Phr) (V)

'@ ThwisPlo R s enaeRye

‘@ 13 |$1h blk 2h

URJRIBY) P @ 161D JakIR 181§ PINI) 106 |oS1213] "@ PIR libial2 T2k {lPIl] RIh S121Y)
QM 1aRR1Y) PMEPR LHPRTHIAZBIPTD ToSijch [P 2Tk *@ PID 1Pbyh & TkloPb Kike kklo) b
‘@ 13 PP bPbh b P 2RD) RS 1NI9) @ ToIR Tkbhive RoIBIN IBD eIKs)
WPk RISIR 195 1anRrssIk bp L @RPIR 1) PP RR B PhRl) 1A Bk

hie [ Bk Seltlle) P 29 1N1) ‘§ RIS [PIR 2h 121P bR Jah RSSR ARIR Nsblbie

“IIR Tolbk Tiollostt 06 (2 98 STHS losTt ABNR Pl3IRIc PRIk
e @ GRh - (D)
®lo () kR (V)

¢ @ [T THIb2S 1cllRhY 22ISPIR ThBS)h 3§ [Plols

pre () _ . swilo ()
b (g) e (V)
. ¢ @ ”W |Sh 5% 121§ THIbDP [Kch

| 99

‘06

68

88

L8

‘08

‘a8

e

1-1S




(Y] o 67 ST-1
| Section - IV / @Ug - IV
MATHEMATICS / 7ifuta
There are 30 questioﬁs in.all in'this section.
' Ail questions are compulsory.

THEEH A 30TH § |

91. “Mathematics is the gate and key of all sciences.” These wor by
(A) Roger Bacon , - (B) | H on . '
(©) Plato (D) epgrand*Russell.

-

aifor, |t Tl &1 R wE e § 1 97 U

@ Ao A Q‘ 3
0 <R3 . | @D)'ﬁ?‘v@tﬁaﬁl

92. In a child which virtue is dev the study of mathematics ?
A) Self confidence ) (B) Logical thinking
(O} AnalyUc thin : (D)  All of these.
[ o T o1 T B ¥ ? |

Tforg o SeIgE 9 :

(B afdhs W= CD

O FEATR
93. rtance of mathematics at primary level is

cultural _ | (B) mental

(C) practical . (D)  religious.
yiafs T R T w1 WEw ©

W EEpRE - (B) THES

O e | () s | @
i -  irro
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94.

95.

~ (A)  Synthetic ' | @

96.

s o

Principle of ‘General to Specific’ is used in
{A) Inductive method A _ (B) Deductive method

(C)  Synthetic method. 1 - | (D) Analytic method.

a4 fafere’ 5 fagr e § | frad yam S @ 2

@ s far : | B)  frm fafu O

© mﬁw fafu (D) ()

In which method in mathematics, do we usually t help ormulas and rules ?

(C) Induction Deduction.

wiford & fere fafen & ww wrer: g agf AT ?
B) faveww
®)

do whitewash of a school in eight days. Then how many more

o be employed to get the work done in two days ?
(B) 6

D) 16.

Wﬁamﬁmwm,ﬂwmﬁ?ﬁmm% | 3w F QA H @ e &
fau ferem Aoy 3R e R 2

a 8 ) B 6

© 2 | D) 16.
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97. Ram has 3 children and Mohan has 5 children. Each of them spends a sum of
Rs. 450 per month on the education of their children. Then whose monthly average

expenditure on education per child is more and by how much amount ?

(A) Ram. Rs. 60 ' . (B) Mohan. Rs. 90

(C)  Ram, Rs. 150 : (D) Both are equal, zer

TH % UER H 39U Hed % IR F 59 § | Fedeh T o= 1 ¥
FT1 € | fepweh wfER 1 s w2 w e ® staq wies T

(& TH, 60 %o

-

(C) ™, 150 %o
98. If a person sells a thing of Rs. 90 at 1
A Rs. 90

(C)  Rs. 99 (D) Rs. 100.

T Al 90 To T K]

@A) 90%o : B) 80%c

[ 99 %o S | (D) 100%o |

99. What simplé_ interest of one year on Rs. 500 at the rate of 1% monthly

(B) 50

© 5 _ O 60. |
500 %o T 1 T4 1 T AT 19 Ffeh ¢ & 0 B ( T ) ?
@A) 55 ‘ . . ® 50

© 5 D) 60.

L . PT.0.
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100. If a person sells a thing for Rs. 90 at a loss of 10%. then what is the cost price of the

thing ?

(A)  Rs. 81 | " ® Rs 100

(©) Rs. 99 (D) Rs. 101,

T Al fohell 9% 1 10% THAH & WY 90 To F =l ¥ A 39 a1 1 &

(A) 81%o 1B) 100’66 <O'

(C) 99%o ‘ (D)

101. The place value of digit 5 in the following fi

5821, 8521, 2851, 1285

is respectively

(A)  Five thousand, Fiv @ Fifty, Five

Hem3ll § 3% 5 T WA
5821, 8521, 2851, 1285

AW ® )
AR ‘ﬁmiﬁa@? T, ot J e mmﬁamﬁamm

(C) dia , O §9R, T=E, WY (D) W= W, W= TR, 9, TH |
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102. The total population ( male and female ) of a village is 4054. If the number of males is

2896. then the number of fermales is

() .5940 ‘ (B) 1068
(C) 1158 \ - (D)  1148.
Wfﬁaﬁwaﬁm( i 91 79 ) 4054 8 1A T¥W HT HEA 2896 €, ol F T
(A) 5940 , ' (B) 1068 O
(&) 1158 | . (D) 1148. Q
103. There are 642 students in six classes of a school. nuifiber of students in each

class is equal, then how many students are theg€'in gach class ?

W 17 1

) 71

e fammem & 6 wanell 4 Fo foaunf

642 7% | aif weireh when  fornflal @1 Hen wAH
2, dl yeae han | fopa foeneff € ' '
@ 17 | ® 107
© 71 (D) 1’70.

104. The value of 10 coi f 25 paise is not equal to

) 2 coins ufee + 1 coin of 50 paise

(B) rupee + 3 coins of 50 paise '
. Q) s of 1 rupee + 2 coins of 25 paise

coins of 1 rupee + 1 coin of 50 paise + 1 coin of 25 paise.
25T % 10 el 1 e Fret § A fore s T R 2

(A) moésQﬁqaé:_+ 5099 =1 1 faeem ,

(R 1mwv1f§@+50ﬁ@3€3f€ﬁ

(©) 1%0&:2@3&:_+ 2599 % 2 faas

(D) \1’60%' 2 ifeaéz +50_ﬁ@sm 1 faaert + 25 99 o1 T faae |

LT — | ~ Irro.
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105. If we divide number 4 by number 6 then the dividend, divisor, quotient and remainder

A

are respectively
A  4.6,0, 4 - (B) 6,4, 0,6
) 4.6,4,0 ' D) 6, 4,6,0.

A 47 T 68 I AW A, I, ST T IR H

& 4.6,4,0 (D)

e

A) 4, 6,0, 4 (B) 6.4.0,6()0
6. , 0. N

106. To create interest in subject mathematics in 1 asses, the teaching method used,
- must be |
(A) recreative and game related ‘cramming
(C) _ induction : (D) deduétion.
S ensit 4 i fo 3 fere, g 1w A e
@) TR T B) WA H

* (D) T =

107. 110wi‘n§, the subject mathematigs is not used explicitly ?
ss and profit (B) Cycling

(C) '~ Purchase of vegetables | | v (D) . Loan.

For 88 Faed TR o 1 e e G T AT 2

W TR B B e

(©) HfsEr e ; ' (D) SUR & |

L )
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108. Ram is playing and putting three balls as follows :

0 o) o) o) o) o)
O O O OO0 0O O 00 O0OO0O O

- 0O
Mohan is preparing a table looking to his play : 0N

Number of QOO signs ! 2 3

Number of balls 3 6 9 O

What conclusion can be drawn from their work ?

(A)  Ram is playing and Mohan is doing mathe
(B) Both Ram and Mohan are trying to gegeraliZe.
(C) Both Ram and Mohan are playin

(D) Ram is doing mathematics an is playing.

m@a@aﬁﬁmm@m@ i@ |

o o “ 0o o o
o0 O "0 00 0O0 O
o 7 % Qe o e 7 T

[ 1 FE ! 2 8.
e 3 6 9

35 el 35 sreir & e Free 2

@ T AT T E R e TR R T R
S S 2T
O R A AR E |
D mem%;ﬁ?%@ﬂm%l

T — E



ST-1 74 \ v “

109. If a_studeni gefs'failed in Mathematics a number of times then to know in which

particular branch of Mathematics is he weak, which of the following methods will be

used ?
A) Written work (B) Oral work

(C} . Diagnostic method _ (D) Remedial m @
| ‘ _ \

F%emu o o & frg i

wErH 98 wHeR g, e 0 9 - fafy wam O o

A ffagwd @uﬁﬁ?ﬁw

(€) - FremreTs il (Df SUERHS Tl |
110. A student can gain ‘hematical calculation by

debate (B) ‘oral work

(D) practice.

EIF| AT B T 9T S "R ©

A == = e faar g7 (B) n‘ﬁ’@mm@ﬁ
(© fafe # g ) e E

g o wor] -

e
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111. How many planes does a match box have ?
@ 6 | ® 8 R
© 9 | o 4.

Aifag &1 fesslt & fean aa § 2

< 9 D) 4.
*
112. How many lines can be drawn on a plane ? @
(A) Three ) %

(© Infinite Nothing can be said.
- & da W TR Yand g . |

A B @
O I D) $ T FT T

113. If a transver e @uts two parallel lines, then which of the following statements is

not true fo
orresponding angles are equal
(B) Alternate angles are equal

(C) Sum of the interior angles formed on one side of transversal line is two right

angles

(D) Sum of the interior angles formed on one side of transversal line is a right angle.

| RIRRA | | [ 501 . - [ P.TO.
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Afe & T Yl w1 T Y s € @ I w A i F feg fre A @ a e

Fq T FE ¥ 2

(A) T IV SR B § _:

@B) WWW%%

(©) ﬁrzﬁ‘f@%waﬁiaﬁ'mmﬂﬁm?ﬁnémﬁm%w

By uﬁ%@%waﬁtaﬁm:ﬁvﬁmmw TSI & 1N

L 2 ‘ :
e weight of 700 millilitre ghee will

114. The weight of one litre of pure ghee is 910 gr:
be

(A) 637 gm . @ 13 gm
(C) 210 gm @ (D) 637 gm.

® 137

(D) 63-7 U9 |

(B) 800 m

(© 300m ‘ (D) é kilometre.'
T SHHR HeM &1 9w 1 e & mﬁ:waﬁ%ﬁgﬁ 200 |l 1.1 35! AR €
() 2504 | B) 800
i 300 D) e
YRR (so1] -
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116. Arrangement of following fractions

1 3 2
3'4° 5°

in ascending order is

1 3 2
W 3 32 5"

1 2 3
Q) 3' 5 4°
Tr=fataa fasil

1 3 2

3' 4’ 5
w1 ANE wH ¥

1 3 2
W. 3 a2 5

1 2 3
©, 3‘54

117. The expanded form

5

, 5"
A) 3g‘+5+T6:'-~1.66'A

AC) 30+5+5

AR

NI

6
7

6
7

6

7

Qo

10 * 1000

dEA 85,507 F fawia w9 &

10 * 1000

®)

(D)

(D)

umber 35-507 is

(B)

(D)

®)

)

Wi .

s
aN
C-

2
6 2 3 1
7' 5" 4° 3
6 3 2 1
7' 4 5 3°
7
35+5.+1—06
, S5 7
30+5+100+1000.
' 7
: 5 7
30+5+’~*~100+———1000.

ST-1

[ P.T.O.
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118. Write the following number in decimal form :

90 + 9+ 11+ 10900 * 10(?000 :
(A)  99.999 | (B)  90-9999
(©) 99.9099 | (D) ‘99-90909.
=1 e = syers w9 o o

9 9 g |
90+ 9+ 96 * 7000 * 100000 - - O
S
@ 99999 41, (B} 90-9999 ‘
. | o
£C) 99-9099 o (D) 9 090
119. Prime factors of number 840 are '
A) 7xB5x4x3x2 ' XB5X3Xx2x2x2
@ 7x5x3x3x2 ' ‘ 7x5x3x2x 2.
T 840 F WY TUET §
A) 7x5x4x3x2. B 7X5Xx3x2x2x2
(C) 7x5x83x3x . : (D) 7x5Xx3x2x2.

2
ultiple (L.C.M. ) and highest common factor ( H.C.F, ) of two

120. The least co

consecutiv numbers are respectively

product, their ratio (B) their sum, first number

. (¥
(C) second number, first number (D) their product, number 1. t
| 3>
ﬁmmﬁwﬁmmm@awwwﬁaﬁm:%
. ’ C ' f ' L
(A) 3T AR, AR F (B) 3% S, UEet GE

©) .l T, el wem B e, wen

L - [s01
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SECTION - V
T|uUs - v
ENVIRONMENTAL STUDIES
UGauT AT

There are 30 questions in all in this section.

All questions are compulsory.

WEE HFA 30THE | O
| A et ¥ ()

121. Main aim of evaluation is &

(A) to maintain discipline

(B)  to conduct examinatiqn on E
C)

() o YRA-US Sl

o s ) S S T R A

L1 — 501 [ PT.0.
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122. Which one of the following is cocurricular activity in science teaching ?

A Science club (B) Audio-visual aids

(C}) Text-book (D) Black-board.
ﬁmﬁﬁﬁw—ﬁmﬁaﬁﬁwﬁm--m% ?
(a) foam @ . B Fo1ged wm O

(€) ISR , ' (D) | '
123. The process to separate impurities from wate

er from curd, small stones from

wheat etc. is palled @
(A) Mixture . Q Separation
@ o

(C) Filtration Sublimaidon.
w4 @ oy, %A %fwanﬁ:ﬁwmaﬂmaﬁm%
@ faso B g
@ - D e
124. Whi

ollowing statements is true ?

Audio—visuél éjds are useful for students ‘

'(B) Chart and graphs are audio-visual aids o
(C) Chasts ére Pseful only in social studies

(D)  Audio-visual aids are not importaﬁt for efficiency in teaching.

-~

w0 s
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e A
(W) #=-gwE A B % ford swe §
(B) aﬁqﬁww-wm%
) aﬁw@n%&avmﬁm%ﬁmw%
(D) ﬁamﬁm%ﬁﬁwmwwmaﬁ%; ()O
| | o

125. There is an initial test before actual construction o& THe initial test is called

(A){ Test planning ‘ ‘ (Tesypreparation

(©)  Pilot study . ( Final try-out.

e 1 s A mﬁaﬁnugﬂw‘waﬁmm%
(A) A& = A % (B) e &Y aArd

) e = . D) ofH W |

126. llfwing states/country is adjacent to Jaisalmer, Bikaner and

(B)  Madhya Pradesh
©Y Haryana -~ (D) Pakistan,
.ﬁmﬁ?{ﬁaﬁﬁﬁﬁ~wm/%mwm%m, aﬁaﬁtam aﬁmwnﬁm‘r@mgaﬂ% ?
(A),. TSad o B AR |
(© wfern ) | (o) 'CITFGFWH |

| R ero.
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127. The name of first artificial satellite was

(A)  Bhaskar (B) Aryabhatta
(C) Rohini ' (D) Edusat.

Y 0 ITE T A1 o

(@) R (B)  emivg O
O~

128. World Environment Day is celebrated on

@) 21st May ‘ ¢ .
(C)  5th June @ZE) .14th November.
@ 217 @ 27w

(G 53 : | (D) 14 Fgw= |

129. Aquatic ani spire by -

(B) Book-lungs

(©) r bladder (D) _ Gills.
(a)  TwEHSF g - o B) T TEEE 5
(C) - =] %1 3N - ) TS g

AR 501 | .
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130. Observe the follo“}ing statéments carefully regarding National flag :
1. Uppermost colour éaffron’ is a sign of sacrifice
2. | Middle colour white is a sign of peace -
3. Middle chakra is ‘é sign of peace and happiness

4. Lower green colour is a sign of peace and happinesso

The following is correct with regard to above statemen

.
(A) -1 to 4 are correct
B 1,2 3are correct and 4th is wron
(© 1. 2. 4 are correct and 3rd i
(D) 2, 3. 4 are correct and
g A % i A g srartaT FAR
1. T @ @ afaeE & T §
2 1 wifa =1yl ®
A H v v o gewTed w1 WA ©
aﬁ%mwwﬁf@w@mm% .'
tﬂftﬂi%?ﬁf?ﬁﬁﬁﬁﬂﬂﬂ%: ,
N 1*@44#’@1% - o B 1.2,_3%%@4%%
© LzamEiwsTEt O 2.'-3,411@'%@1@%

k)

I, (o] . N PO,
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131. Morphological features found in the plants and animals according to the environment

are called
(A)  Adaptations , ' (B) Parasitism
(@3] Modifications (D) All of these.

W%mﬁﬁmaﬁaﬁﬁmﬁaﬁwmawﬁﬁmt

() FIFEA S ®

) ®URRO o (D)

-

132. Bird sanctuary of our state is situated in w

()  Sawai Madhopur B)

(C)  Bharatpur D) | Udaipur.
AN .nvq 1 T&fi - AR i 22

@) T W B

(D) T |

133. ywing is not true with respect to Air ?

iréraft can fly (B)  Air has weight

(C)  Air occupies space (D)  Air has colour.

ﬁwﬁﬁﬁmmmmmgé:w&ﬁﬂﬁﬂﬁ%? !

(&) FgEAEITAE, . B 99H wﬁm%

() g o A ¥ , ) I E TR

(AR | 501 | o
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134. The energy stored in a spring of a watch is

(A)  Mechanical energy ) (B) Heat energy
©) Light energy ' ' (D) Electric energy.
uel &1 foim # dufea st %
& e mﬁ - | 1 (Bi FE FS O .
© wEm o | (D) () |
L 4

135. Ge{rmici'des used for drinking water are
(A)  Potassium permanganate and chlo
(B) Potassium chloride and chlorj

() Sodium chloride and o

(D) Potassium sulphide and rine.
T ¥ e o

. A 1 FARA (B) ‘mmammﬁ
(C) . aﬁ%' (D) URREE wTRERS dw FARA |

136. tve the following carefully :

The above traffic sign indicates | : .
(A)  Major road (B)  Narrow bridge

(©) Railway crossing (D) ngagéd road.

[ TRMRRNR) | | - - [ P.T.O.
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alallalialiolll.
SIS AT o 'm ? |
A)  Hea g . ' | o mm
(C) o wIeH | | o) o T ~| O
| 137. Smallpox and Rgbies diseases are caused .by & 9
S @‘

(A} -Virus (B) / s
(C) Bacteria ' %\atodes.
mwmmmmwﬁm%@;‘ ' 

(P IREH (B) WIS

© ¥ @ ) ﬁﬁ'@’é!‘ |

138. We take food and

igeg n takes place. The useful substances from digested food are

absorbed
of stomach - (B) by wall of small intestine _
(C) wall of large intestine (D)  in the liver.

T IS A & T W G § | 5 e o 3 S el 7 s @
@) s 1 < | ® o s A A

(C) . J88 31 &1 <ar q ’(D) 'mﬁnnv

W L | [50—1}‘ -
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139. Plants synthesize food by photosynthesis. Following are essential during the process of

photosynthesis :

) Oxygen, wéter, sunlight and chlorophyll

(B) Oxygen, sugar, sunlight and water

(C)  Carbon dioxide. water, sunlight and chlorophyll
V(D) Carbon dioxide, sugar. water and sunlight. |
Y FeRTer HYSHO G WIS SA | TR Heewo fRar § e

(A)  HATFHSH, ST, FF & IHE T quiEia . .

(B) TS, ek, g TR T W *-

(C)( FHET SEINFAES, A, I & THY T

(D) e TReEITE, v, W T ¥ ‘\
140. Normal temperature of human bo |

() 33" Celsius (B) 38" Celsius

(C)V 98.6" Celsius (D) 37 Celsius.

AE TR A |

W 33 A (B 38 @fcead

0 986 - (D) . 37 Qfcwad |

14 1'. Minerals ‘ Udaipur and Bhilwara districts are |

A) ad, Silver and Copper '

inc, Gypsum, Garnet and Gold

(C) Lead, Silver, Tungsten and Copper

(D) Silver, Rock phosphaté, Tungsten and &}ypsum‘.

(A) m@ﬁwaﬁ@?ﬁm B  wE, fowm, T wd Ee

(© i, S, S o (D) =, ek e, Ted T for |

O T | pr0.
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142. In which district of Rajasthan is petroleum pumped up ?

(A)  Baran (B)  Bharatpur
(C)  Jodhpur | O Barmer.
e ¥ far foe § Sgferan freen S ¥ 2 |

) (B) AR

(C) SER (D) ST |

(A)  earth is between sun and moon

143. Moon eclipse occurs, when T ' O

(B) moon is between earth and sun L 4

(C). sunis between earth and moon
(D)  earth, sun and moon are in a straighglin
=% T8 BT B, 54

A) gw&,q&@mmﬁamg :Q (B) ,'W,ﬁ?ﬂ?@gﬁésaﬁa@m%
(D)

) g, geft wd T F W= geaft, g e wE we v 6w ¥

144 . National animal is

()  Peacock (B)  Lion
()  Tiger )  Chinkara.
T Y § 3
(a) HT B I
. (D) fEwR
145, is the name of
(A)  Jaipur " (B)  Jaisalmer
(C)  Barmer . [ Jodhpur.
") | SR o (B)  STHETH A
(© =TI | @ g |

i SR
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- 149. Wool is obtained from

(A)  Hair of Sheep, Camel and Yak

(Bj Hair of Sheep, Lion and Camel

(C)  Hair of Camel, Elephant and Rablbi.t
/ (D) Hair of Cow, Goat and Sheep.

A W B ¥

B 9T, 2w I % Tl (B)
)

&

g

© ¥ eviwmy A 2%3@6&@%%@@'@
1_5(). The houses of Monkey, Lion and apf s entiaﬂy_

A -nest, tree and cave (B) cave, burrow and tree

()] . tree, cave an (D) burrow, Lree and cave.

11111 | [ 501 |

T, foel @ T

foet, Ig T TH |

Y
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: INSTRUCTIONS / fy
( Read carefully and comply / &1 q ﬂ%‘ T Qe 3?}‘)
IMPORTANT /

In Secuon Il {Language 1) a candidate has to attempt the questions of the language which the candidate has selected as
lan”ua;,( !'in the Onhne Application Form,
3 1 (AT 1) § T T & G e HN Afard v s B g ot F W | % ww § Siens s = 6 e

In b(cnon Ul (Language 11} a candidate has to attempt the questions of the language which the candidate has selected as
Language If in the Online Application Form. The Language 11 will be different from Language 1.
T 41 (ST 1) W OIE N & Y ] A HA W?&WWWW@IWHWHEWJQW M-I H FF ) W ) G PR B
The candidate must ensure that the Question Booklet Series Code has been filled correctly at the prescribed place in
the OMR Answer Sheet. Your OMR Answer Sheet will be evaluated on the basis of Question Booklet Senes Code apd not
Question Booklet Number

W i

" BWg U 7 (TS W a1 ARLE A 3

w1 f® omnvﬁzﬁﬁﬂiﬁawwmm#}ﬁwmwﬁw%: ATUHE OMR VitZ
Wi ¥ A afed Uy giiae @R W8 & Saw ww fEar s

. No”'1 to 4 1n the
onsible for the

Read complete instructions carefully and fill the details from S1. No. 1 to 5 in the OMR Answer Shee,
Question Booklet. [f you fail to fill the details and sign as instructed correctly, you will be pers
consequences arising during scanning of your OMR Answer Sheet. —

{739 1 qol #q § AEEE TE AR FHF 1" 5 TF OMR YE TF FAIE 1 Y 4 qF W YR (THEAR A 3T A wiiE §
rdamwmawmm?momnvﬁawﬁﬁnévwwmamqﬁw%ﬁﬁmm SRl

T 96 g5 Uy 1sowzlqﬁ&wﬁﬁmﬁ:ﬁmsﬁwmﬁm
150::9?{?11?&%24@314%3%‘(90%%'
All questions are of MCQ (Multiple Choice Question) type. There is only
mark. There will be no negative marking for wrong answers.
wift v agfaFeia WER & | URE T UF oy 8 WEl ¥ 1 R 0 F o
All questions other than language questions of Sections II and III sb
W U % W7 @RI WU n 9d m sfafem o |t
In any event of anv mistake n any question/s. candidates wi > ed. However no corrections will be made in
question/s during the examination, . . . . .
friwmumq%a;fmwﬁwmh?ﬁmmwm‘ afer T el F Tt e @1 TYA g FEra TR
Kough woyk if any. may be done n lhc Questlon Booklet o C i
et TS | fRl W T AR FIS IETR AR HTAT T
igital diary or any other electronic item/instrument etc. is not

mm*%waw (¢m?ﬁmm$mnwﬁnﬁm s
Usce of Log tables, Calculator, Slide rule, Mobile phqg
allowed. Their use will result in dlsquallﬁcauon

i 2He, mﬁa TIEE T, HEEA
JART O T I Hi T St el &
OMR Answer Sheet will be provided along wit
OMR ¥z, v qfEsht  amg ?5?1
The Quc suon Bookiet will be 1bsued to :
and OMR Answer Sheet. The Qucsu shall be opened at 11:00 A .M. After opening the Question Booklet, ensure
1 ion i i nted / torn / repeated. In case, you find any defect anywhere in the Question
get it replaced within 10 minutes by the Invigilator. Warning Bell will ring at
30 P.M.
Wmﬁmq@?ﬂw OMR ¥z # @t wfafezai &1 w7 1 e QR H) e F
' rwamwmﬁaaﬂauzq # - fo 3o Rl wmea g & ) 1 w9 g A @ e/
gam‘«ﬁwanmm qfesel 5 30 Ao B ffe ST F Al Al e F gran we o
10 fifFz & v diers @ T SR o | STE H2RIMe 12:25 WSS Ud Sfan o Het AURT 12:30 W F
Write vour Exam, Cen 1 No., OMR Answer Sheet No., Question Booklet Series Code., Name and put your Signature
in the space pr 0v1dd irntheQuestion Booklet as well as in the OMR Answer Sheet. . . R .
21T ®I W U %55 T IS, Tel T, OMR YT F3i%, T3 Ifs 9109 7z, AW 6 o 90 s w1

Wxth tach quesnon ou i) find 4 possible answers marked by the letters A, B, C' & D. Read each question carefully and find out

C g to you is correct. Indicate your answer by darkening the appropriate circle completely in the OMR Answer

.

d

Booklet, immediately inform t
12:25 P.M. and the last long b
3T F Y JRAF ud: 10:4508
HE F TG 11:00 I &1 Y

@)the question. For mdrk answers use blue /black ballpoint pen only. Gel pens / pencils are not allowed
! MYAHTH I A, B,Ca DA T¢ d WEl IR 1 997 HT T IO F OMR ¥ 1§
FHH 3 mmw:‘ﬁm&‘mmaﬁwﬁ#%%ﬁ A IS ST UA T @ ITEE B | ST UA W Aot T 3uE afer %|

- W ethod :
CORRECT / §#l n(_,r{;n% ° WRONG / YT&Ted WRONG / TTéTd WRONG / TT&TR WRONG / TTeTd

Q00 ® OO O| |OQ00| |0000| |0 e

OMR Answer Sheet is designed for computer evaluation If you do not follow the instructions given above and at the backside of
the OMR Answer Sheet, it may make evaluation by computer difficult. Any resultant loss to- ‘the candidate on the above account
shall be of the candidate only. .
omnmm?mmwtﬁﬁﬁmwétﬂ%mmmomnvﬁz?ﬁwwwfwmmwwmm ar
FOZEY FRT SGH Geih] mm|wwuﬁwﬁwmwwﬁfﬁ¢mﬁwmaﬁrzﬁ

No candidate should leave the Examination Hall before the final bell. The OMR Answer Sheet is carbonless in duplicate having
perforation on jae top portion. Candidate should detach carefully the Original copy from'the Candidate's copy (duplicate} so
that the Original copy is not mutilated in any way. Candidate should hand over the Original copy to the Invigilator before
leaving the Examination Hall. Candidate can carry the Question Booklet and Candidate's copy with him/her.
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